Can you solve the periodic table
cipher and name the element that

is being described?

aluminium hydrogen argon fluorine boron lithium scandium argon fluorine boron potassium
13 1 18 9 5 3 21 18 9 5 19
Alf H | Ar| F | B Li |Sc|Ar| F | B | K
26.982 1.0079 39.948 18.998 10.811 6.941 44.956 39.948 18.998 10.811 39.098

beryllium phosphorus | vana dium silicon carbon hydrogen magnesium | magnesium

4 15 23 14 6 1 12 12

Be| P| V|(Si| C|H |MgM

9.0122 30.974 50.942 28.086 12.011 1.0079 24.305 24.305




